BEL FOA 2Bx-&FBRR (1)
= N # 8 % - # -y ® E 3 x
F =] # B # B O
214 264 T % 214 265 T % 215 264 A0
wHo& I # #| 13,138 14555 -1417 -9.7 4,083 3,453 630 18.2 31.1 23.7 1.4
& A & 1,936 2,075 -139 -6.7 807 1,135 -328 -28.9 41.7 54.7 -13.0
% & B 822 915 -93 -10.2 286 438 -152 -34.7 34.8 47.9 -13.1
2 A # 356 238 118 49.6 152 100 52 52.0 42.7 42.0 0.7
=] % = 38 61 -23 -37.7 8 44 -36 -81.8 21.1 72.1 -51.0
AT MIBUY
® BE B Y 37 58 -21 -36.2 13 12 1 8.3 35.1 20.7 14.4
w OfE O} L 2 12 -10 -83.3 1 2 -1 -50.0 50.0 16.7 33.3
B A E R L 4 9 -5 -55.6 2 3 -1 -33.3 50.0 33.3 16.7
¥ KR ®m L 9 25 -16 -64.0 12 8 4 50.0 133.3 32.0 101.3
m Bk owm L 23 1 12 109.1 6 7 -1 -14.3 26.1 63.6 -37.5
#% B P W L 13 3 10 333.3 2 1 1 100.0 15.4 33.3 -17.9
T H WL 155 167 -12 -7.2 48 124 -76 -61.3 31.0 74.3 -43.3
HOE W L 205 252 -47 -18.7 225 216 9 42 109.8 85.7 24.1
I % & L 32 35 -3 -8.6 9 4 5 125.0 28.1 11.4 16.7
B K E R L 11 27 -16 -59.3 2 57 -55 -96.5 18.2 2111 -192.9
2 E ® L 120 147 -27 -18.4 1 42 -31 -73.8 9.2 28.6 -19.4
z [2) it 109 115 -6 -5.2 30 77 -47 -61.0 215 67.0 -39.5
Y B B 3,327 3,805 -478 -12.6 482 339 143 42.2 14.5 8.9 5.6
B & B & 243 285 -42 -14.7 330 145 185 127.6 135.8 50.9 84.9
F—HY 59 60 -1 -1.7 53 39 14 35.9 89.8 65.0 24.8
-4 L 184 225 -41 -18.2 271 106 171 161.3 150.5 47.1 103.4
bl VAN - 297 414 -117 -28.3 16 45 -29 -64.4 5.4 10.9 -55
*F—5HY 60 112 -52 -46.4 7 14 -7 -50.0 11.7 125 -0.8
-4 L 237 302 -65 -215 9 31 -22 -71.0 3.8 10.3 -6.5
B & B & 2,787 3,106 -319 -10.3 136 149 -13 -8.7 4.9 48 0.1
i 923 1,009 -86 -8.5 60 43 17 39.5 6.5 43 2.2
g A L 1,864 2,097 -233 -11.1 76 106 -30 -28.3 4.1 5.1 -1.0
¥ £ A & 7,875 8,675 -800 -9.2 2,794 1,979 815 41.2 35.5 22.8 12.7
B L) & 1 26 -15 -57.7 1 2 9 450.0 100.0 1.7 92.3
h H & 4 3 1 33.3 2 3 -1 -33.3 50.0 100.0 -50.0
ATMB LWL
EE R L5 W 2 1 1 100.0 2 -2| -100.0 0.0 200.0] -200.0
B E Rk b W 22 11 1 100.0 3 2 1 50.0 13.6 18.2 -4.6
v o fz <Y 19 25 -6 -240 4 10 -6 -60.0 21.1 40.0 -18.9
k3 Y 19 42 -23 -54.8 4 8 -4 -50.0 21.1 19.0 2.1
[ ElL = 877 994 -117 -11.8 202 160 42 26.3 23.0 16.1 6.9
REEHR DLW 32 29 3 10.3 4 1 3 300.0 125 3.4 9.1
B E RS W 1,711 1,850 -139 -75 620 264 356 134.8 36.2 14.3 21.9
&R »H Y 878 1,006 -128 -12.7 474 153 321 209.8 54.0 15.2 38.8
s AL 833 844 -11 -1.3 146 111 35 315 17.5 13.2 4.3
B &5 645 650 -5 -0.8 64 67 -3 -45 9.9 10.3 -0.4
B &HZmA S L 42 52 -10 -19.2 3 2 1 50.0 71 3.8 3.3
BR#HLS W 105 126 -21 -16.7 3 10 -7 -70.0 2.9 7.9 -5.0
=N 316 282 34 12.1 102 43 59 137.2 323 15.2 17.1
IEHHL W 121 149 -28 -18.8 1 14 -3 -21.4 9.1 9.4 -0.3
B ElL = 1,612 1,647 -35 -2.1 928 941 -13 -1.4 57.6 57.1 05
B & Ao 165 148 17 115 44 42 2 48 26.7 28.4 -1.7
BB R 5 L 12 8 4 50.0 6 4 2 50.0 50.0 50.0
z [2) it 2,160 2,632 -472 -17.9 783 404 379 93.8 36.3 15.3 21.0




BEL FOA 2B #FBRR  (2)
® Z A 8 3 N D) F
F =] # b b} b 8 B
275 264 T B % 215 264 < B % 2145 264 = %
HOE N BB 1,515 1,584 -69 -4.4 1,290 1,261 29 2.3 225 323 -98 -30.3
& A & 88 126 -38 -30.2 81 110 -29 -26.4 7 16 -9 -56.3
% & B 26 35 -9 -25.7 26 33 -7 -21.2 2 -2 -100.0
2 A # 1 6 -5 -83.3 1 6 -5 -83.3
=] % = 1 4 -3 -75.0 4 -4 -100.0 1 1 —
AT MIBUY
® BE B Y 7 8 -1 -125 7 8 -1 -12.5
w OfE O} L 1 -1 -100.0 1 -1 -100.0
B o ERL 1 1 — 1 1 —
¥ KR ®m L 6 3 3 100.0 4 4 — 2 3 -1 -33.3
m B & L
#% B P W L 1 1 — 1 1 —
EBEmEL 6 9 -3 -33.3 6 9 -3 -33.3
HOE W L 14 25 -1 -44.0 10 23 -13 -56.5 4 2 2 100.0
I % & L 6 6 — 6 6 —
B K E R L 1 3 -2 -66.7 1 3 -2 -66.7
2 E ® L 5 16 -11 -68.8 5 12 -7 -58.3 4 -4 -100.0
z [2) it 13 16 -3 -18.8 13 11 2 18.2 5 -5( -100.0
Y B B 131 179 -48 -26.8 60 55 5 9.1 71 124 -53 -42.7
B & B & 42 24 18 75.0 29 21 8 38.1 13 3 10 333.3
F—5HY 22 14 8 57.1 9 1 -2 -18.2 13 3 10 333.3
-4 L 20 10 10 100.0 20 10 10 100.0
bl VAN - 18 51 -33 -64.7 1 5 -4 -80.0 17 46 -29 -63.0
*F—5HY 8 18 -10 -55.6 3 -3| -100.0 8 15 -7 -46.7
-4 L 10 33 -23 -69.7 1 2 -1 -50.0 9 31 -22 -71.0
B & B & 7 104 -33 -31.7 30 29 1 34 41 75 -34 -45.3
& »H Y 22 20 2 10.0 5 6 -1 -16.7 17 14 3 21.4
W& A L 49 84 -35 -41.7 25 23 2 8.7 24 61 -37 -60.7
¥ £ A & 1,296 1,279 17 1.3 1,149 1,096 53 48 147 183 -36 -19.7
B L) & 8 2 6 300.0 3 2 1 50.0 5 5 —
h H &
ATMB LWL
EE R L5 W 2 -2| -100.0 2 -2 -100.0
B E Rk b W 1 -1 -100.0 1 -1 -100.0
v o fz <Y 1 4 -3 -75.0 1 1 3 -3 -100.0
k3 Y 2 3 -1 -33.3 2 3 -1 -33.3
B 5l = 155 119 36 30.3 146 112 34 30.4 9 7 2 28.6
REEHR DLW 1 1 1 1
B E RS W 28 19 9 474 28 17 11 64.7 2 -2( -100.0
&R »H Y 12 5 7 140.0 12 5 7 140.0
s AL 16 14 2 14.3 16 12 4 333 2 -2| -100.0
B &5 4 7 -3 -42.9 4 2 2 100.0 5 -5 -100.0
B &HZmA S L
BR#HLS W 5 5 — 1 1 — 4 4 —
=N 15 13 2 15.4 14 10 4 40.0 1 3 -2 -66.7
IEHHL W 7 1 6 600.0 7 1 6 600.0
B 5l = 825 886 -61 -6.9 710 739 -29 -39 115 147 -32 -218
B & Ao 28 21 7 33.3 26 20 6 30.0 2 1 1 100.0
BB R 5 L 4 3 1 33.3 3 3 1 1 —
z [2) it 213 197 16 8.1 203 182 21 11.5 10 15 -5 -33.3




